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My, = My + My, + M,,,, =6.74kNO m

0200000 O -175% 175% 6.00 STKR400)
A=3.96x 10* mm’
Z= Z,=2.13% 10° mm’

g3gooooo

Opy = == = 143 N/mm’

=31.6 N/mm>

Op = Opyx + Opy =143+ 31.6 = 175 N/mm’

4000

% =175/235=0.74 O 1.0 - OK
b

4.4 Y13-Y140VvY14-yi5OOOOOoooOB2OO0OOOO
ugbboobobodgboobboobooboa

gigoogd
gboodbObL=500m
PxJ Py D00000000000W,=90.0 N/ m?
WL LW O000B=(6.16+7.69)/2=693m

gbooabboobodiMm,

2
My=W,-B-= =195kNOm
|

4.6 0000000

4.20000000CBO0000O00000O HO
V0P, 0R0000
OI0000H=10.1kN= H,

V, =624kN = y,000
020000H=150kN = H,
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V=1, =V, =2.55kN= 1,000
P,=-H,+H, =01010 150= 49kN
P,=V, +V,=624 0 2.55=879kN
000000000000000000000M,,
Myy = P-> =123KkNO'm
000000000000000000000M,,
My, =P, % =22.0kNO m

4.10000000000000000000000000 HOVOW,OW,0000
H =328 kN/m
V=0.33 kN/m
W, = H — H=0.00 kN/m
000000000 0000000000HOOOO
W, = 2V =0.66 kN/m

0000000000000000000M,,
LZ
My = W, - = =0.00 kKNO'm
0000000000000000000M,,
L2
My = W, - = = 1.03 KNO m
M, = My, + M, =123 kNOm

My, = My + My, + M,,,=25.0 KNO'm

0200000 O -175% 175% 9.00 STKR400)
A=577x 10" mm’
Z= Z,=2.97% 10° mm’

g3goooono

Opy = == =41.4 N/mm’

=2 =84.2 N/mm’

Op = Opyx + Oy =41.4+84.2 = 126 N/mm’

4000

% =126/235=0.54 0 1.0 --——OK
b
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D00000000000000
0100000
420000000CBO0000000000 HOV,O0P, OR0000
DI0000H=10.1kN= H,
V, =624kN = 1,000
P, = H;=10.1 kN
P, =V, =624 kN
D00000000000000000000M,,
Myy = P+ =253KkNO'm
D00000000000000000000M,,
My, =P, % =156 kNO m

4.10000000000000000000000000 HOVOW,OW,0000
W, = H=3.28 kN/m
W, =V =033 kN/m
0000000000000000000M,,

My =W, =513 kN0 m
D000000000000000000M,,
L2
My, =W, 5 =0.52kNO m
M, = My, + My =30.4KkNO'm

My, = My + My, + M,,,, =18.1 kKNO'm

0200000 O -175% 175% 9.00 STKR400)
A=577x 10" mm’
Z= Z,=2.97% 10° mm’

g3goooono

Opy = == =102 N/mm”

=2 =60.9 N/mm’

Op = Opyx + Opy = 102+ 60.9 = 163 N/mm’

4000
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% =163/235=0.69 O 1.0----OK
b

0D00000000000000
0100000
4.20000000CBO0O0O00000000 HOV,0R ORO0000O
D20000H=150kN = H,
V=1, =V, =255kN= 1,000
P,=H, =150kN

000000000000000000000 M,,
L
My = P, -2 =37.5kNOm
000000000000000000000M,,
L
Myy = P, -5 =638 kNOm

4.10000000000000000000000000 HOVOW,OW,0000
W, = H=328 kN/m
W, =V =033 kN/m
0000000000000000000 M,,

My =W, -2 =513 kNm
D000000000000000000M,,

Myy =W,

L2
v — =0.52 kNm
16

My = My, + My, =42.6 KNm
My = MO + MpyZ + MWyZ = 8.85 kNm

0200000 O-175% 175% 9.00 STKR400)
A=5.77% 10* mm>

Z= Z,=2.97% 10° mm’

g3goooono

Opy = == = 143 N/mm”

=29.8 N/mm>

4-25



Op = Opy + Opy = 143+29.8 = 173 N/mm’

4000

% =173/235=0.74 O 1.0 - OK
b

45 X3oXiwooooooooesooooo

gigoogd
gboodobiL=5.00m
_ 2
W W, 0000000000 Odw, =90.0N/m
l l l l Uo0o0b0B=125/2=0.625m
gbooobboobadinM,

;
y

2
‘ My =W, -B-= =0.175kNO m

4.1000000000000000000000
D000 HOVOW,O0W,0000
W, =H =328 kN/m
W, =V =033 kN/m
000000000000000000000M,,

4.7 0o0oaoog

2
My =Wy =103kNOm

000000000000000000000M,,
LZ
Myy =W, - = =1.03kNOm

000000000000M,
My = M,,, =10.3kNO m

000000oo0oO0oM,
My, = My + M,,, = 1.18kNO'm

020 0000 0O-125% 125% 4.50 STKR400)
A=2.12x 10’ mm’
Z= Z,=8.09% 10" mm’

g3goooono

Oy = ’;’—: = 127 N/mm’
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M.
Opy = Z—yy = 14.6 N/mm’

Op = Opyx + Opy = 142 N/ mm’

4000

% =142/235=0.60 O 1.0 - OK
b

46 0O0O0O0OOOOOO
gigoogd

ugbobod vis-vyi4Ovyi4-vyisooooooooooooodaooao
4.100d0b0000b000booobuooboab
goobooobood HVO

ooo
AELERY ; g H =3.28 kN/m ]

oo0o0oooo
0

lg w V= 0.33 kN/m --—- 2000
y
Y oooogd4/100 6 =21.8°
)/7 HOvOoOoOooooow,ow,000o00

W, =H-cos@ —V -sinf =2.92 kN/m
W, = H-sinf +V - cosf =1.52kN/m
O0000Olp=0.3m

L= 50mm

ijgboogooooaabod

2

M, = W, -2 =0.0329 kNO m
2

W, My =W, -2 =00171kKNOm

0480000000000 0D000M, =/MZ+ M2 =0.0371kNOm

20 0000000000
N,=W,-l, =0.876kNO 0 00O
My =W, - ly- L, =0.0228 kNO m
Q, =W, - ly =0.456 kN

g20004ad
100 0O @ 160 SS400)

d3 3
gooao Zl=1t-§=402mm

20 0 0O ¢ 130 SS400)
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d? 2
gooao Ay, =m-— =133 mm

Z,=m->— =216 mm*

300000
0000 0O000S=40mm00000000a=07 x S=28cm
Az = (¢ +2a)* -7 — A, =139 mm’

YA

Z3=(<p+2a)3-§—22 =410 mm’

poobooabogon
e le00 00

oy = % =92.3 N/mm>
1
% =92.3/235=039 0 1.0 - OK
b
209130000

0, =2 = 6.59 N/mm®
Az

o, =22 =106 N/ mm>
b=

%+ %=659/235 0 106/235=048 O 1.0 OK
t b

uboabooooo

o, =22 =630 N/mm®
Az

g, = 22 =55.6 N/mm’
b Zs

o, =2 =328 N/mm®
s < 4,

(0, + 0,)% + 02 =62.0 N/ mm*

% =62.0/135=046 O 1.0----0OK
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47 OU0dobOoOOooboobobod

010 0000
4.20000000CBOO00000OH,,V,0

Le=20mn 00O0pROPR0000O

00ooo0oo P, = H; =10.8kN

), =V, =6.24kN

T=T,=+H2+VZ =125kN

igoooaboggo

~=L My =T -2 =0.0625 kNO m
2000 000000000000000
goooooo
oooo O0oo00oooooooooo
Li=50mm

Ooooooocs P
My =21, =0.156 kKNO m

490000000000 O0O00OO b
N2=?x =554kNO0D0O0O0

Q; =2 =3.17kN

020 0OOO
0000 16

d3 3
gooao Zl=1t-§=402mm

0 O PL-6.0t0 SS400)
0000000W=70mm0 00 0 h=80mm
oooQd A, =80 x 6 =480 mm”
Z, =6x80%6=6.4x 10° mm’
30 0000
0000 DO000S=60mm 0 OOO00a=07 x S =42mm
Ay =2 x [08002x 420 % 4.2=601 mm’
Zy =2 x 42 x 08002x 4.2)°/6=7.18% 10° mm’

g3gbooogoooon
iwmgoogoo

o, =21 = 155 N/mm>
b=

;—” = 155/235=0.66 0 1.0--—OK
b
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20PL-0.600 00

o, =22 = 11.5 N/mm>
t =,

o, = 22 =24 4 N/mm>
b= 7,

(o¢+op) _
ft

3oooooooo

3

o, =2 =527
3

O =’;’—: =21.7

(op+0p)2+02 J(9.22421.7)2+5.272
\/Ts — V0224217245272 _ 53 |0 OK

fs 135

48 0U0O0O0OOOOOOOO
010 DOD0OO00oDbooo

god

Hl VVVVVVVVVVVVVVV l¢ - Hz

“““““ \ Vl B2 oooooag
DDDDDDNZ

0410 00000000000

020 0OOOO
000000000000 1,=5.00m
000000000000 W,,=90.0 N/m’
O00OB=(6.16+7.69)/2=693 m
Vo=Wyy B+l =3.12kN
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= [011.5024.40/235 = 015 0O 1.0 - OK



00000000125mO00000
4.20000000CBOOO00O0O0O 1000
H, =108kN O H,
V, =624kN 0O V;
4.20000000CBOO00O0O0 2000
H=150kN 0O H,
V=255kN O V,
030 0000 0000000 0O-75% 75% 3.20 STKR4000]
o000 A=18.93x 10> mm’
Z=2.01% 10* mm’
i =20.1 mm
L, =07m 0 O0O0D0O00O00O0OOO
L,, =18m 0O 00000O0OOOOOO

OooooDod
Al=f%== 0.77/20.1x 10°= 3830 f, = 144x15 =216 N/ mm’
Az=f%:= 1.80/20.1x 10°= 89.601 f,, = 97.4x1.5 =146 N/ mm’

ubboobbodgboobbooboobod
uAbggoog

10 oogbodan

Hy = (Hy — Hy) - —-= 168 kN

Ny = (V + Vi) -~ + Vo + Hy - tan(45°) =55.1kNOD 0000

20 0000
O00O0H,00

Hp
cos(45°)

N, = =238kNO O OO0

uBOOU
10 oogbodan

01 = Mo~ 61.7 N/mm?
A

%=6KH2%=026DIDHHOK

t

20 ODODbOobOooD

0y = Y2~ 26.7 N/mm?
A

;—2 =26.7/146=0.18 0 1.0----OK

2c
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00O0002-M20FI0T)00OO0O000O0
0D000000:F =70.7kN/0 (0000O000)

DDDDDDDDQ=ZN—5=55.1/2=27.6kN/D

DDDDF2 =039 0 1.0 - OK
b

ugbbooobodgboobobod
uAbggoog
10 boogbodan

Hy = —Hy -—-=-432kN

Ny =Vy ==+ Vo+ X H-tan(45°) =-151kN 00000

20 0000
O00O0H,00

Hp

) = =6l1.1kNOOODOO
cos(45°)

uBOOU
10 oogbodan

o, =2 =16.9 N/ mm’
A

;—1 =169/216=0.08 0 1.0----OK

1c

20 ODODbOobOooD

0, =2 = 68.4 N/mm’
A
% =68.4/235=0.29 0 1.0 --—-- OK
t

00O0002-M20FI0T)0OO0O000O0
0000000:F =70.7kN/0 (0000O000)

DDDDDDDDQ=2N—S=61.1/2=30.6kN/D

DDDDF2 =043 O 1.0-—OK
b

ugbbooobodgboobobod
uAbggoog
10 Oggbodan
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Hy = Hy - 2= 60.0 kN

Ny =Vy ==+ Vo + L H - tan(45°) =733 kN

20 0000
O00O0H,00

Hp

) = =849kNO O OO0
cos(45°)

uBOOU
10 oogbodan

01 = Mo~ 2.1 N/mm?
A

01

e 82.1/235=0.35 00 1.0----OK
t

20 OOboooboo
05 =% =95.1 N/mm’

jf—z =95.1/146=0.65 0 1.0 ----OK

2c

gboobgz2-M20lO0FIOTHYODOODODOODO

ugboogan

0000000:F =70.7kN/0 (0000O000)

DDDDDDDDQ=&=84.9/2=42.5kN/D

20

DDDDF2 =0.60 0 1.0 —--- OK
b

49 0J0OO0OOOOODObOOD

ugbboobuodgbboobuoobbooboobbooboab

gbooaoo

) gobodoboobobooboobbooboa, bbooboobbd,2003.8

2y yuoboooboo, obooboooo, 2005.9

3) JO00O00OO0oO0bOOoOob0ooO0obL ObOoOooDbOoOonooMSAI/M-02-1995), DO OO

uboodaoo,199s
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